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04 J|I2ZtHIZ2Z2NEES 30,619 25,205 5,414
Mmoot = A 30,619
ool 42 0803 x20H x30 25,248
(OF A== E-g= 42,0803 20 x4 3,367
oLNE - MUEESE 28,614, 400& *x7% 2,004
201 et 28,000 28,000 0
01 AP 2t 2] H| 28,000 28,000 0
mAX=S 2,000,000& *143] 28,000
202 o4 H| 1,000 1,000 0
01 2Ll 1,000 1,000 0
mACHEI AN AR 20,000 23 x5 1,000
307 giztol & 104,000 102,000 2,000
2 50,000
& 15,000
Al 39,000
03 Al HEXZ2 4,000 2,000 2,000
m(AH)SI2 LR ESHAYXE HMXH &=
X & 2,000,000 2,000
mofeEtd Z2o2sHE HHAIXSE &&= XN
2,000,000 2,000
05 QIZtRES 100,000 100,000 0
moHOtEH A MY D] = HAEL 100,000,000 100,000
2 50,000
== 15,000
Al 35,000
401 A& HI L 2 04| 65,000 20,000 45,000
o= 25,000
Al 40,000
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50,000,000& 50,000
T 25,000
Al 25,000
402 212t X201 & 130,000 130,000 0
01 QI2t X2 =x 30,000 30,000 0
mASHSUHS & AFS I 30,000,000& 30,000
02 QI2HCHSH AFS HI 100,000 100,000 0
mAAE HISHIE MY D41 BIZ2tYE
25,000, 000& *40) & S x13] 100,000
HAXNZSZEE2Y 93,977 87,256 6,721
101 @121 37,875 35,316 2,559
04 JI2ZtH22XNEE 37,875 35,316 2,559
moHOHHA MY Il £=H 37,875
OolF 42,0803 *4H x160 26,932
oORZIsLrY 42,0803 x4 x32 5,387
OENRES®/It=Y 42,0803 x4H »7 1,179
o409 2g= 33,664,000 *13% 4,377
201 et A | 56,102 51,940 4,162
01 AFR2t2l Y] 16,400 16,000 400
w2 B2 12,000
oxsE 2 23 7 1,000,000& x12& 12,000
m =S 4,400
OHAXZE &M HUI(22D]) 9
440,000& 102 4,400
02 33249l 39,702 35,940 3,762
m=322 % XA 33,102
(OFSPIETa =] 1,350,000 =2CH *12& 32,400
o+ 232 58,500& x12& 702
W2 H| (L) 3,000,000& 3,000
[m] Xt &F A EHH| 3,600
oOxHERFU 200,000& x12& 2,400
OXEHH SAH & 2 EH|
100, 000& *1CH*12& 1,200
= JtAt2I 2 M A 30,000 30,000 0
& 15,000
Al 15,000
402 212t X} 20| & 30,000 30,000 0
& 15,000
Al 15,000
01 212t x 30,000 30,000 0
mEZJtAL2 FHAS 30,000,000& 30,000
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402 RI2EX=20l A 20,000 ,000 0
< 10,000
Al 10,000
01 RIZERI2E X 20,000 ,000 0
mAEA PHA 20,000,000 20,000
< 10,000
Al 10,000
ofl 22 2l 23,508 ,603 10,905
101 @124l 13,508 ,603 905
04 JI1ZtHZ22HEE = 13,508 ,603 905
moee M &Y 13,508
(ORIl 42,0803 *300H 12,624
OLE - MUMEE 12,624,000& *7% 884
206 M= Hl 10,000 0 10,000
M= dl 10,000 0 10,000
X IR P2 100, 000& x20& *53! 10,000
FXIHS ™ 2l A 4,000 ,000 1,000
= 2,000
< 1,000
Al 1,000
307 glz2tol & 4,000 ,000 1,000
= 2,000
< 1,000
Al 1,000
05 RIZtR &= 4,000 ,000 1,000
mEXHAE X 4,000,000& 4,000
= 2,000
< 1,000
Al 1,000
SMTGAES Y 2e 10,000 ,000 0
= 5,000
< 1,500
Al 3,500
101 @14l 2,500 ,500 0
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Al 875
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2,500,000& 2,500
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HYSSHH (Y EED)
el 2l )
SN HH-S(BN) - MBAY - B il HlnE2
CREEEEES;
8,450 x150%*4 Al 2t+3H x 128 1,826
Oxge=2f=d 67,6203 *150%*3H 34 10,346
O¢NREsH=rEY 67,6203 *3H x20 4,058
o1l =4l 300,000 »3H 900
WMEFHAILE X (O &A2) 26,478
OPIES=1QRE=E--) 1,221,530 x 1P «12& 14,659
(COF U= 1,411,530& *1H x400% 5,647
O¢MRERHrEY 49,9603 *1H x152 750
OFEE FItHl 1,221,530& *1H x100% 1,222
(COF=EapEN 90,000 «1H 128 1,080
(OFNE=EN. 100,000& x1H 122 1,200
ONE=+Y 720
O <Xt 40,0003 1«12 480
OR2I=E 20,0003 «1H 128 240
oxdstgl x4 1,200
OnsSstu(Ad2HIIE)
300,000& x1H 4= | 1,200
mEAEZE 2 (L HZ) 199,824
0Jl2=2(1888) 1,450,930& x6H x 12 104,467
(OF e 1,640,930& *6H x400% 39,383
O¢NRERH=rEY 58,0803 6% x20 6,970
OFEFOtHl 1,450,930& *6H x100% 8,706
(COF=EagEN 90,000 ~6H x12& 6,480
(OFNME=- N 100,000& x6H 122 7,200
ONESY 4,800
Ot < Xt 40,0003 «6H «122 2,880
OR2IE 20,0003 «8H «12& 1,920
oxdstgl x4 1,200
QLESW(AZHIIE)
300,000 x1H 4= | 1,200
o1l =t 300,000& 6 1,800
O0sg2f=+¥ 58,0803 *150%*6 % »36 X 18,818
=3l 94,920 99,396 N4, 476
JIE23l 94,920 99,396 N4, 476
201 L2l 29,520 30,996 AN 1,476
01 At 2t 2l 29,520 30,996 N1,476
mBt~=ZH]| 12,720
OJle MRESHI 3,000& x20F 123 720
O2NMBE =84 50,000 *20Y x12& 12,000
m = &l 7,000 *20E 10«12 16,800
202 Odl 60,000 63,000 A 3,000
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01 2L Hl 60,000 63,000 A 3,000
m2AL=E 200,000 x20H ~12& 48,000
m 22 =& 50,000 202 x12& 12,000
203 R F & 4,200 4,200 0
04 EASHEIRFAH| 4,200 4,200 0
mEA2H (302! 0l5}) 350,000 x12& 4,200
204 22482 H| 1,200 1,200 0
01 & Z AR AHH| 1,200 1,200 0]
m A (5g BEXD|&) 100,000 x12& 1,200




